’TY\QOsf.W\/\ 12.4 (L_EOUU;\\Q o PRne ()\(’\)

[oT F be a diffecembial Loold with an a}gebm}(‘f?ll[g clezod
o e e 00 1 W eq. K=C. lot LeF ¢
j?(r)di € G when G B an elewmentory exTemnsion ()), (=
8. 6=F(0,.,00) whae O 18 exp, log, algebvaic
oLl F(,@l,-.> ) /)’\W = Vo,\/\)~~~,\/r4<§ = aud
coestantx .02 rsCm € |< such tnat

S £ax = Vot Glogyi+ ~+ Gmlog Um
L Bid F_ten O 2 o fegarthm,
, fxc, + T_g{d% — =NETE 2103(\*><>
\/o € F CieC heF
= €6 () G = F (8= log(1+30)
B Sumpmc g(‘dc - ~xel £ ancd fe E

L. % "> C_"er ond %% appeocss wn L.

Dilleodiating  botn  siclos : i z
P Yfmes M = et oder = (1¥odyer

Theaom 123 Secss clag(-.cl)exz}:dﬂ-g(f/)exl)



